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Survey Results: Frequency and Percentage Distribution
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Survey Overview and Sampling Method
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Survey Project: Survey on the Implementation of ‘One Country, Two Systems’ in Hong Kong
(Sixteenth Round)
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Survey Date: 21 January 2025 to 25 February 2025 (6:15 p.m. to 10:15 p.m.)

S & SR
Commissioning Body: Path of Democracy
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Polling Agency: Telephone Survey Research Laboratory, Hong Kong Institute of Asia-Pacific Studies,
The Chinese University of Hong Kong
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Target Respondents: Hong Kong residents aged 18 or above who speak Cantonese or Mandarin
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Survey Method: Data collection was conducted using CATI system. A random sampling method was
used to interview 1,005 residents aged 18 or above who speak Cantonese or Mandarin (with a
sampling error of + 3.09% at a 95% confidence level). The survey sample included both landline and
mobile phone respondents, with response rates of 48.1% and 49.1%, respectively, meeting scientific
survey standards.
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Data Weighting: To ensure that the survey data accurately reflects the true distribution of the Hong
Kong population, the survey results have been weighted based on the probability of selection of the
sample, referencing the latest gender and age distribution published by the Hong Kong Census and
Statistics Department. Additionally, due to rounding in the weighted data, the sums of individual items
in the statistical tables may slightly differ from the total.
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“We would like to understand the public's views on the implementation of 'One Country, Two
Systems' in Hong Kong. If 1 point represents 'strongly disagree' and 7 points represent 'strongly agree,'
how much do you agree with the following statements about the situation in Hong Kong after the
handover?” (The order from Q1 to Q9 will be displayed randomly)
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Q1 “After the handover, Hong Kong exercises a high degree of autonomy and manages its
administrative affairs within the Special Administrative Region. How much do you agree with this?

On a scale of 1 to 7, what score would you give?”

97 He Fav oREat RFEA
Frequency Percentage Valid % Cumulative %
1. 1 160 15.9 16.0 16.0
2. 2 67 6.7 6.7 22.7
3. 3 117 11.6 11.6 34.3
4. 4 136 135 135 47.8
5 5 176 17.5 17.5 65.3
6. 6 135 13.4 13.4 78.8
7. 7 191 19.0 19.0 97.8
88, 3 v AR 23 2.2 2.2 100.0
Don’t know/ Difficult to say
99. BB w ¥ 1 0.1 B
Refused to answer Omitted
3+ Total 1005 100.0 100.0
3 7z ~ Valid Sample: 1007 #% 8 & ~ Omitted Sample: 1
324 Mean: 4.29 % # % Standard Deviation: 2.064

1300 b 975 Bodfdos S Fhe AR o byt ¥ T E 9 (88, o it R AT AR FE R -
Note: All data above have been weighted. In calculating the average scores, samples that selected '88. Don't know / Hard to say' were

not included in the calculation.
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Q2 “After the handover, Hong Kong continues to maintain its independent judicial power. How much
do you agree with this? On a scale of 1 to 7, what score would you give?"

LR A gorEar RgEA
Frequency Percentage Valid % Cumulative %
1. 1 185 18.4 18.4 18.4
2. 2 63 6.2 6.2 24.6
3. 3 115 11.5 11.5 36.1
4. 4 127 12.6 12.6 48.7
5 5 148 14.7 14.7 63.4
6. 6 142 14.1 14.1 77.6
7. 7 200 19.9 19.9 97.5
8. 3 aviE AR 25 2.5 2.5 100.0
Don’t know/ Difficult to say
99. G w ¥ 1 0.1 LR
Refused to answer Omitted
3+ Total 1005 100.0 100.0
3 7zt ~ Valid Sample: 1004 4% @ & ~ Omitted Sample: 1
I a2/ Mean: 4.24 1& #& ¥ Standard Deviation: 2.142
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Q3 “After the handover, Hong Kong continues to maintain its independent legislative power. How

much do you agree with this? On a scale of 1 to 7, what score would you give?”

e FAMN  FREAE RfEE A
Frequency Percentage Valid % Cumulative %
1. 1 183 18.2 18.2 18.2
2. 2 90 8.9 8.9 27.1
3. 3 101 10.1 10.1 37.2
4. 4 121 12.0 12.0 49.2
5 5 150 14.9 14.9 64.1
6. 6 143 14.3 14.3 78.4
7.7 187 18.6 18.6 97.0
8. SR oo i 30 3.0 3.0 100.0
Don’t know/ Difficult to say
9. G w ¥ 1 0.1 EE T
Refused to answer Omitted
3+ Total 1005 100.0 100.0
3 »xfk &~ Valid Sample: 1004 i% &% &~ Omitted Sample: 1

I a4 Mean: 4.17 1% & X Standard Deviation: 2.145
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Q4 "After the handover, Hong Kong people continue to maintain their original way of life. How much
do you agree with this? On a scale of 1 to 7, what score would you give?"

ﬁg@; "Ij‘A,\ L ﬂ}% f,»;cg AN }}ﬁ’ﬁ AR
Frequency Percentage Valid % Cumulative %
1. 1 101 10.0 10.0 10.0
2. 2 76 7.6 7.6 17.6
3. 3 125 12.5 12.5 30.1
4. 4 138 13.7 13.7 43.8
5 5 150 14.9 14.9 58.8
6. 6 151 15.1 15.1 73.8
7.7 254 25.2 25.2 99.1
88, I oo A= 9 0.9 0.9 100.0
Don’t know/ Difficult to say
.2+ Total 1005 100.0 100.0
3 7zt &~ Valid Sample: 1005 i% B & Omitted Sample: 0
I 2/ Mean: 4.64 1& #& ¥ Standard Deviation: 1.999
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Q5 “After the handover, Hong Kong continues to enjoy freedom of speech, assembly, and association.
How much do you agree with this? On a scale of 1 to 7, what score would you give?”

LS FAv oREat R A
Frequency Percentage Valid % Cumulative %
1. 1 301 30.0 30.2 30.2
2. 2 100 10.0 10.1 40.3
3. 3 91 9.1 9.1 494
4. 4 100 10.0 10.0 59.4
5 5 111 11.1 11.2 70.6
6. 6 112 11.2 11.3 81.9
7. 7 165 16.4 16.5 98.4
88, 3 v S AF R 16 1.6 1.6 100.0
Don’t know/ Difficult to say
99. £F W E 7 0.7 i
Refused to answer Omitted
3+ Total 1005 100.0 100.0
3 7zt &~ Valid Sample: 998 4% 8 & ~ Omitted Sample: 7

I 2/ Mean: 3.63 1& #& ¥ Standard Deviation: 2.284
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Q6 "After the handover, the development of Hong Kong's democratic system is being implemented
gradually in accordance with the Basic Law. How much do you agree with this? On a scale of 1 to 7,
what score would you give?"

LR A goxEar RgEA
Frequency Percentage Valid % Cumulative %
1. 1 229 22.8 22.9 22.9
2. 2 75 7.4 7.5 30.4
3. 3 114 11.4 11.4 41.8
4. 4 126 12.5 12.6 54.4
5 5 153 15.2 15.3 69.7
6. 6 109 10.8 10.9 80.6
7. 7 156 15.6 15.6 96.3
8. 3 aviE AR 37 3.7 3.7 100.0
Don’t know/ Difficult to say
99. B w ¥ 5 0.5 B
Refused to answer Omitted
.3+ Total 1005 100.0 100.0
3 »xfk &~ Valid Sample: 1000 i B & Omitted Sample: 5
T 334 Mean: 3.88 & & ¥ Standard Deviation: 2.154
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Q7 "After the handover, Hong Kong people, regardless of their economic capacity, identity, or social
status, are able to receive legal protection. How much do you agree with this? On a scale of 1 to 7,
what score would you give?"

e FAW AN REE A
Frequency Percentage Valid % Cumulative %
1. 1 94 9.4 9.4 9.4
2. 2 82 8.2 8.2 17.6
3. 3 107 10.6 10.6 28.2
4. 4 120 11.9 12.0 40.2
5 5 171 17.0 17.0 57.2
6. 6 180 17.9 18.0 75.2
7. 7 240 23.9 24.0 99.2
88, 3 v AR 8 0.8 0.8 100.0
Don’t know/ Difficult to say
99. EBFw ¥ 2 0.2 i
Refused to answer Omitted
23+ Total 1005 100.0 100.0
3 7tk &~ Valid Sample: 1003 4% 8 & ~ Omitted Sample: 2

I a2/ Mean: 4.70 1& #& ¥ Standard Deviation: 1.967
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Q8 "After the handover, Hong Kong can uphold national sovereignty, security, and developmental
interests. How much do you agree with this? On a scale of 1 to 7, what score would you give?"

ﬁg@; "Ij‘A,\ L ﬂ}% f,»;cg AR }}ﬁ’ﬁ ARAY
Frequency Percentage Valid % Cumulative %
1. 1 85 8.4 8.5 8.5
2. 2 44 4.4 4.4 12.9
3. 3 85 8.5 8.5 214
4. 4 121 121 121 33.6
5 5 173 17.3 17.4 50.9
6. 6 173 17.2 17.3 68.2
7.7 298 29.6 29.8 98.0
8. 3 v AR 20 2.0 2.0 100.0
Don’t know/ Difficult to say
99. B w ¥ 5 0.5 B
Refused to answer Omitted
.2+ Total 1005 100.0 100.0
3 7zt &~ Valid Sample: 1000 i B & Omitted Sample: 5
T 334 Mean: 5.00 & & ¥ Standard Deviation: 1.912
QY "Wzt AN AAFINEPRERT- B IR L212TH  REHB I A
v N

Q9: “After the handover, Hong Kong is able to maintain long-term prosperity and stability. How much
do you agree with this? On a scale of 1 to 7, what score would you give?"

LEs Fav oREat R A
Frequency Percentage Valid % Cumulative %
1. 1 127 12.6 12.6 12.6
2. 2 97 9.7 9.7 22.3
3. 3 143 14.2 14.2 36.5
4. 4 114 114 114 47.9
5 5 185 18.4 18.4 66.3
6. 6 147 14.7 14.7 80.9
7. 7 176 17.6 17.6 98.5
- ¥Eavif 15 1.5 1.5 100.0
Don’t know/ Difficult to say
3+ Total 1005 100.0 100.0
3 7zt &~ Valid Sample: 1005 i B & Omitted Sample: 0
I a2/ Mean: 4.29 1& #& ¥ Standard Deviation: 1.999
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Q10 “After the handover, how successful do you think the implementation of 'Hong Kong people
governing Hong Kong' has been? If 1 represents 'very unsuccessful' and 7 represents 'very successful,’

what score would you give on a scale of 1 to 7?"

7 4 v FoREAN REEAY
Frequency Percentage Valid % Cumulative %
1. 1 212 21.1 21.2 21.2
2. 2 105 10.4 10.5 31.6
3. 3 116 11.5 11.6 43.2
4. 4 134 13.4 13.4 56.6
5 5 157 15.6 15.7 72.3
6. 6 109 10.8 10.8 83.2
7. 7 152 15.1 15.2 98.3
8. 3 aviE AR 17 1.6 1.7 100.0
Don’t know/ Difficult to say
99. B w ¥ 4 0.4 B
Refused to answer Omitted
3+ Total 1005 100.0 100.0
3 7zt &~ Valid Sample: 1001 i B & Omitted Sample: 4
I 324 Mean: 3.87 iZ-2& % Standard Deviation: 2.111
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"If 1 represents 'very little confidence' and 7 represents ‘very much confidence,’ how confident are
you in the following aspects?"

QI Ming H+ B dBriik (F2047#% ) i 25 FF T- WA 41,2 2

1274 2 g B 5o 2

Q11 “How confident are you that Hong Kong will fully implement ‘one country, two systems' in the
future (i.e., before 2047)? On a scale of 1 to 7, what score would you give?”

ﬁg@; "Ij‘A,\ L ﬂ}% f,»;cg AR }}ﬁ’ﬁ ARAY
Frequency Percentage Valid % Cumulative %
1. 1 224 22.3 22.3 22.3
2. 2 90 9.0 9.0 31.3
3. 3 80 8.0 8.0 39.3
4. 4 110 11.0 11.0 50.3
5 5 120 12.0 12.0 62.3
6. 6 109 10.8 10.8 73.1
7. 7 224 22.3 22.3 95.4
5. 3 aviE AR 46 4.6 4.6 100.0
Don’t know/ Difficult to say
99. B W ¥ 1 0.1 Er
Refused to answer Omitted
2+ Total 1005 100.0 100.0
3 7zt &~ Valid Sample: 1004 #% 8 ~ Omitted Sample: 1
I 2/ Mean: 4.08 1& #& ¥ Standard Deviation: 2.291
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Q12 “When conflicts arise between the mainland and Hong Kong, how confident are you that the two
sides can resolve them through dialogue and negotiation? On a scale of 1 to 7, what score would you
give?”

A7 B ‘FTA,\ L 'ﬁ TR AR F’ﬁﬁ‘ﬁ AR
Frequency Percentage Valid % Cumulative %
1. 1 186 18.5 18.5 18.5
2. 2 90 9.0 9.0 27.5
3. 3 112 11.2 11.2 38.7
4. 4 91 9.1 9.1 47.7
5 5 147 14.6 14.6 62.4
6. 6 141 14.0 14.0 76.4
7. 7 195 19.4 19.4 95.8
8. 3 aviE AR 42 4.2 4.2 100.0
Don’t know/ Difficult to say
Fawg 0 0.0 4% 8
99. i
Refused to answer Omitted
3+ Total 1005 100.0 100.0
3 7zt &~ Valid Sample: 1005 i B & Omitted Sample: 0
T i34 Mean: 4.17 1% & ¥ Standard Deviation: 2.184

QI3THEHABKTHIAT AR w2174 » Hg K/ 5o ?
Q13 “How confident are you in the Hong Kong education system? On a scale of 1 to 7, what score
would you give?"

97 dc FA FoREAr RfEEA
Frequency Percentage Valid % Cumulative %
1. 1 157 15.6 15.7 15.7
2. 2 98 9.8 9.8 255
3. 3 142 14.2 14.2 39.7
4, 4 142 141 14.2 53.9
5 5 201 20.0 20.0 73.9
6. 6 106 10.5 10.5 84.4
7. 7 127 12.6 12.7 97.1
88, 3 v AR 29 2.9 2.9 100.0
Don’t know/ Difficult to say
9. FEwE 2 0.2 EENR
Refused to answer Omitted
3+ Total 1005 100.0 100.0
3 7zt &~ Valid Sample: 1003 i B & Omitted Sample: 2
I a2/ Mean: 3.98 1& #& ¥ Standard Deviation: 1.955
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Q14 “If 1 represents 'very dissatisfied' and 7 represents 'very satisfied,' how satisfied are you with the
performance of civil servants? On a scale of 1 to 7, what score would you give?"

7 e FAr FoREAN RfE A
Frequency Percentage Valid % Cumulative %
1. 1 76 7.6 7.6 7.6
2. 2 97 9.7 9.7 17.3
3. 3 179 17.8 17.8 35.1
4. 4 204 20.3 20.3 55.4
5 5 246 24.5 24.5 80.0
6. 6 109 10.9 10.9 90.9
7. 7 76 7.6 7.6 98.5
8. 3 aviE AR 15 15 1.5 100.0
Don’t know/ Difficult to say
9. FEw ¥ 3 0.3 ix 1B
Refused to answer Omitted
2+ Total 1013 100.0 100.0
3 7tk &~ Valid Sample: 1002 i% B & Omitted Sample: 3
I a2/ Mean: 3.09 1& #& ¥ Standard Deviation: 1.627
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Q15 'If 1 point represents "very dissatisfied" and 7 points represent "very satisfied," how satisfied are

you with the performance of the current SAR government? On a scale of 1 to 7, what score would you
give?'

LEs FAr FoREAE REA
Frequency Percentage Valid % Cumulative %
1. 1 186 18.5 18.7 18.7
2. 2 105 10.5 10.6 29.3
3. 3 116 11.5 11.7 40.9
4. 4 154 15.3 15.5 56.4
5 5 208 20.7 20.9 77.3
6. 6 114 11.3 11.5 88.8
7.7 99 9.9 10.0 98.7
88, 3 aviE AR 13 1.3 1.3 100.0
Don’t know/ Difficult to say
a9 Faw ¥ 10 1.0 ix B
" Refused to answer Omitted
3+ Total 1005 100.0 100.0
3 »xfk &~ Valid Sample: 995 #% 8% &~ Omitted Sample: 10
- 35 Mean: 3.85 2% % Standard Deviation: 1.953
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Q16 'If 1 point represents "very dissatisfied" and 7 points represents "very satisfied," how satisfied are
you with the performance of the current Legislative Council? On a scale of 1 to 7, what score would
you give?'

LR v FoREAN REEAY
Frequency Percentage Valid % Cumulative %
1. 1 246 24.5 24.7 24.7
2. 2 118 11.7 11.8 36.5
3. 3 115 11.5 11.6 48.1
4. 4 179 17.8 17.9 66.0
5 5 147 14.7 14.8 80.8
6. 6 76 7.6 7.6 88.5
7. 7 70 6.9 7.0 95.5
8. 3 aviE AR 45 4.5 4.5 100.0
Don’t know/ Difficult to say
Fawg 9 0.9 i+ B
99. i
Refused to answer Omitted
3+ Total 1005 100.0 100.0
3 7zt &~ Valid Sample: 996 i B & Omitted Sample: 9
I 32/ Mean: 3.39 # 2 % Standard Deviation: 1.926

QU7 Tis ¢ 2 g T BRI HRPHHD L LAKFR (blhe & - Pk~ RRAE 3R 7
Q17 “Would you consider living or developing in the mainland cities of the Greater Bay Area
(for example, for further education, employment, doing business, or retirement)?’

#E Hc B j&iﬁ:’p’/’}bt ?’,ﬁﬁ'ﬁkbt
Frequency Percentage Valid % Cumulative %
1. - ¢ Definitely will 80 8.0 8.1 8.1
¥ iv Maybe 324 32.2 324 40.5
% ¢ No 570 56.7 57.2 97.7
g I aviE i 23 2.3 2.3 100.0
Don’t know/ Difficult to say
9. FEEGwE 3 0.3 ik 1B
Refused to answer Omitted
0. Zif* (5 x® AL 4 0.4 i
B E) Omitted
Not applicable (already living
or developing in GBA)
3+ Total 1005 100.0 100.0
3 7zt &~ Valid Sample: 998 4% 8 & ~ Omitted Sample: 7



QL8 Min A kT &£ F mHH A BAH /5 hedrH 2 7
Q18 ‘Do you have any plans to leave Hong Kong and immigrate abroad in the next five years?’

ﬁg@; “p*g\eb ﬂ}%z»;;“p*/,,\eb f;l g—g/,,\w
Frequency Percentage Valid % Cumulative %
1. H¥TE Have plans 131 13.0 13.2 13.2
2. 4#FTE No plans 829 825 83.9 97.1
8. rRivig JAFEpE 28 2.8 2.9 100.0
Don’t know/ Difficult to say
9. 8w ¥ 6 0.6 i+ B
Refused to answer Omitted
0. NEHEBR CAHINEE 10 1.0 ey
FHTE) Omitted
Not applicable (already
immigrated / already have
foreign residency)
3+ Total 1005 100.0 100.0

3 7zt &~ Valid Sample: 988

i B & Omitted Sample: 17

Q19 Myr¥li i T2ty ainp » 274 RE T2bdinp ) » H{> TRAGE B A i BE
o iR BB 21374 0 g S A 7
Q19 'If 1 point represents "strongly disagree"” and 7 points represent "strongly agree," how much do
you identify with the identity of "I am a Hongkonger"? On a scale of 1 to 7, what score would you

give?'
e FAR fREAn RfEFA
Frequency Percentage Valid % Cumulative %
1. 1 18 1.8 1.8 1.8
2. 2 6 0.6 0.6 2.3
3. 3 20 2.0 2.0 4.3
4. 4 30 3.0 3.0 7.4
5 5 84 8.4 8.5 15.8
6. 6 130 12.9 13.0 28.9
7.7 696 69.3 70.0 98.9
88, PEArip AR 11 11 1.1 100.0
Don’t know/ Difficult to say
9. FEwE 11 11 % B
Refused to answer Omitted
3+ Total 1005 100.0 100.0

3 7k & Valid Sample: 994

=

Mean: 6.39

i% Bk & Omitted Sample: 11

1% & X Standard Deviation: 1.221
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Q20 'If 1 point represents "strongly disagree" and 7 points represent “strongly agree," how much do
you identify with the identity of "I am a Chinese"? On a scale of 1 to 7, what score would you give?'

7 e FAr FoREAN RfE A
Frequency Percentage Valid % Cumulative %
1. 1 77 7.7 7.8 7.8
2. 2 59 5.8 5.9 13.7
3. 3 80 7.9 8.0 21.7
4. 4 71 7.1 7.1 28.8
5 5 88 8.7 8.8 37.7
6. 6 102 10.2 10.3 47.9
7.7 507 50.4 51.0 99.0
8. 3 aviE AR 10 1.0 1.0 100.0
Don’t know/ Difficult to say
9. Faw ¥ 12 1.2 ix 1B
Refused to answer Omitted
2+ Total 1005 100.0 100.0
3 7zt &~ Valid Sample: 993 i% B & Omitted Sample: 12
I 2/ Mean: 5.41 1& #& ¥ Standard Deviation: 2.048

Q21 Mdrd1ia & T2y pn, » 374 R4 T2bd %, » GHABKARI0EED B R I &
BLAERS QLITA g S 5 A 2

Q21 'If 1 point represents "very pessimistic” and 7 points represent "very optimistic," how do you feel
about the prospects of Hong Kong in the next 10 years? On a scale of 1 to 7, what score would you
give?'

LS A goREa RE A
Frequency Percentage Valid % Cumulative %
1. 1 145 14.5 14.6 14.6
2. 2 103 10.3 10.3 24.9
3. 3 153 15.3 15.3 40.2
4. 4 144 14.3 14.4 54.6
5 5 173 17.3 17.4 72.0
6. 6 134 13.3 13.4 85.4
7.7 129 12.9 12.9 98.3
8. SR oo i 17 1.7 1.7 100.0
Don’t know/ Difficult to say
9. FEwE 6 0.6 ENTE
Refused to answer Omitted
3+ Total 1005 100.0 100.0
3 7k & Valid Sample: 999 i% B & Omitted Sample: 6
- 35 Mean: 4.03 2% % Standard Deviation: 1.953
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Q22 What conditions do you think will be favorable for Hong Kong to continue implementing ‘one
country, two systems' after 2047?

Vi “}5 >tk Hc
A AR A
Percentage of

KR S effective sample
Frequency size
b IR /B NE R 288 28.6
1. Further democratization of the political system
BERRE D 325 32.3
2. Safeguarding national security
3. WEFBRP e 419 41.7
Maintaining a high degree of autonomy
SRR TERLT 625 62.2
4. Ensuring economic prosperity and stability
B (zp) 25 2.5
5. Other (please specify)
6. H# TRAELERFRIT- RS F 9 0.9
Other: "One country, two systems™ is no longer being
implemented
7. B D 204T& 4 BGEFE - KA 4 5 0.4
Other: "One country, two systems" should not continue after
2047
8. rRAvif S FEpi 73 7.2
Don’t know/ Difficult to say
9. B W ¥ 14 1.4
Refused to answer
3+ Total 1782 177.3
3 »xfk & Valid Sample: 1005 # i # & Omitted Sample: 0
X ;’/;p /,,\;L{»&ﬁgtp ("mt;ﬁ;:) n/T\u {ﬁj\Agt (%10054 ) o pLoh _g&;g: %
FEHBA -0 E ko i A R RAzE 100% -

* The percentage is calculated by dividing the number of responses (i.e., frequency) by the effective

sample size (i.e., 1005 people). Additionally, since respondents are allowed to provide more than
one answer, the total percentage may exceed 100%."
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Q22_OTH 'What conditions do you think will be favorable for Hong Kong to continue implementing

""one country, two systems" after 2047?' [Other responses]

Vi “}5 >tk Hc

A AR A

Percentage of

LR S effective sample
Frequency size
10. ™Mb w FEEE ARG ¢ HET - WA 8 31.2
The above four condltlons will not affect 'One Country’,
Two Systems.
11. 2047 & 2_ (5 % € BF 9 7 - WA 4] 4 15.5
‘One Country, Two Systems' will not continue after 2047.
12. % #% p ¢ Freedom of Speech 2 8.3
13. = & W T2+ Assistance from the United Nations 1 2.8
14. #3185 p 4 Freedom of entry and exit 1 5.7
15. 23 ¢ W% A% No Chinese Communist Party 0 1.7
16. = % # ;2 41 & Comprehensive judicial system 1 25
17. & & /5= Monetary independence 2 9.3
18. gz i @ % Depends on policy 1 3.1
19. ¢k ¢ 4] Foreign exchange controls 1 2.8
LRSIt T I S TR - 35 1 2.2
20. Central government not intervening in Hong Kong's internal
affairs / reducing interpretation of laws
21. ‘a4F 32 Maintaining the status quo 1.7
gp FEHHEA B 2w 1 0¥ 9.1
The government working from different aspects
23. 3 & p ¢ & P~ Hong Kong fighting for itself 8.9
24. 51:& % %~ 4 Introducing more talents 0.9
3+ Total 26 105.7

3 7z~ Valid Sample: 25

i B & Omitted Sample: 980

T I

* A LE R (THIE) U ki k Ll (254 ) @

FHA S-S E R R A R RALE 100% -

£ i

* The percentage is calculated by dividing the number of responses (i.e., frequency) by the effective
sample size (i.e., 25 people). Additionally, since respondents are allowed to provide more than one

answer, the total percentage may exceed 100%.
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S CLASS PRI R & - 11;7}_4_@ FE R A dEpERE 0 iRX g;g; TR BT B~ v T
LR R RN Ry
S_CLASS 'When asked about which social class your household belongs to, do you consider your
household to be lower class, lower-middle class, middle class, upper-middle class, or upper class?"

S

B

ﬂ}% z‘;i:—ﬁ AN

— A
f{%;fﬁpla L

Frequency Percentage Valid % Cumulative %
1. T & Lower class 144 143 14.5 14.5
2. * T & Lower-middle class 297 29.6 29.9 44.4
3. 7 & Middle class 445 44.3 44.8 89.2
4. ¢ * % Upper-middle class 76 7.6 7.6 96.8
5. 1 & Upper class 9 0.9 0.9 97.7
8 R oot s 23 2.3 2.3 100.0
" Don’t know/ Difficult to say

Fawg 11 11 i+ B
9. i

Refused to answer Omitted

3+ Total 1005 100.0 100.0

3 7zt ~ Valid Sample: 994

POL Mz inegEprintie i G E AL Mol TEBREY ?

i% B & Omitted Sample: 11

POL 'When it comes to your political inclination, which camp do you think you lean towards?'

;tpfﬁ;; ’p*A\LL “ﬁ%;é;’ﬁ/,,\kb fz} g—g/,,\w
Frequency Percentage Valid % Cumulative %
1. #Z=417% Pro-establishment 70 7.0 7.1 7.1
2. X 2% Democratic camp 85 8.4 8.6 15.7
3. # 4 % Localist camp 29 2.9 2.9 18.6
4. ¥ RFi% Centrist camp 106 10.6 10.8 29.4
5, #£iIERFsMEw 669 66.5 67.8 97.2
Hu A HFREFE 1 0.1 0.1 97.3
11." Other: Support for Hong
Kong's interests
12 His oA dm+? Bk 2 0.2 0.2 97.5
Other: Democratic + Centrist
" Hiu o pdi 1 0.1 0.1 97.5
Other: Liberal camp
8. 3 aeiE i 25 2.5 2.5 100.0
Don’t know/ Difficult to say
9. FEwE 18 1.8 % B
Refused to answer Omitted
3+ Total 1005 100.0 100.0

3 »xk & Valid Sample: 987

i% Bk & Omitted Sample: 18
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EDU

CineEscT AR 2 Pl 7

EDU ‘What is your educational attainment?’

_H;F]‘:g;: —I::I‘ A;\ L

ﬂ}% z‘;i:—ﬁ AN

— )\
AAE A

Frequency  Percentage Valid % Cumulative %
1 BT 87 8.6 8.7 8.7
" Primary school or below
5 A2¢ (¢ -3¢ = 143 14.3 14.4 23.2
" Junior secondary (Form 1-3)
B¢ (Pwid = ) 240 23.9 24.1 47.3
3. Senior secondary
(Form 4-7/Pre-U)
4, L1281 (s32E #EL 120 12.0 12.1 59.4
/' IVEZ)
Non-degree post-secondary
(including diplomas/ associate
degree)
. LB 304 30.2 30.6 90.0
" University degree
6. Myt (¢3miL #L5) 99 9.9 10.0 100.0
Graduate school (incl. master’s /
doctoral, etc.)
9 FEw ¥ 12 1.2 i E
" Refused to answer Omitted
4=t Total 1005 100.0 100.0

3 »zfk & Valid Sample: 993

# Bt & Omitted Sample: 12

12



WORK T ix B oan 1“‘35 ﬁf»"ﬁ%‘q& R
WORK: ‘Are you currently employed?’

? ]

S

Frequency

A
Percentage

ﬂ}% z‘;i:—ﬁ AN

Valid %

ke TP A

Cumulative %

1 amcfFrcx BE AR
Employed: Administrative and
professional staff

2. I——Bﬂ‘ * B2 PRFEFA R

Employed. Clerical and service
staff

3. & F‘ DEFE A
Employed: Labor worker
4, 1 1@ RFE
Managing household duties
«‘E’H‘\ Retired
EEYE T NI E S
b l%«ﬁf‘—‘,%ﬁ.‘,zl iT
Unemployed / actively looking

for work / jobless/ unable to
work due to illness or injury

[ =2
Student

10. ,19%: s LN (P A )
Employed: Not specified/
unable to categorize

11 wm: p g/ gl
Employed: Self-employed/
employer

9. FEHWYF
Refused to answer

211

239

105

64

285
31

48

14

21.0

23.8

10.5

6.4

28.3
3.1

4.8

0.3

0.4

14

21.3

24.1

10.6

6.5

28.7
3.1

4.9

0.3

0.4

8
Omitted

21.3

45.4

56.0

62.5

91.2
94.4

99.2

99.6

100.0

%2t Total

1005

100.0

100.0

2

7 »x#k ~ Valid Sample: 991

i B & Omitted Sample: 14
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GENDER % 3%?," 14 =] Gender of respondents

A7 Hec B A G OARR At RAE A
Frequency Percentage Valid % Cumulative %
1. 5§ Male 472 47.0 47.0 47.0
2. *~ Female 533 53.0 53.0 100.0
¥3+ Total 1005 100.0 100.0

3 2z ~ Valid Sample: 1005

AGE T/ T &dsmn 9

i% B & Omitted Sample: 0

Respondents’ age groups

e A GorEar RgFA
Frequency Percentage Valid % Cumulative %

1. 18p% 3 29% 128 12.7 12.8 12.8
18-29-year-old

2. 304 % 39% 153 15.2 15.3 28.1
30-39-year-old

3. 40f 3 49 165 16.4 16.5 44.6
40-49-year-old

4. 50 3 59p% 176 17.5 17.6 62.2
50-59-year-old

5. 60 % 69 197 19.6 19.7 81.9
60-69-year-old

6. 70kt 182 18.1 18.1 100.0
70-year-old or above

9. FFBWF 4 0.4 ix 1B
Refused to answer Omitted
4E=1 Total 1005 100.0 100.0

3 2z~ Valid Sample: 1001

i% B & Omitted Sample: 4

14
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Appendix: Explanation of the weighting calculation method for the survey data
# A5 £ fpongri=(Dual frame) T 35 Humh P53 °%ﬁ*ﬁ%$‘%éﬂﬁ%ﬁ$
T BIEN RIZFEWRR DT EIBERA - R FRT R HEL
P I B mnt SRS o Fla NRBREF LTI ZFLA B RIEE
THNEB L FE T SRR B A BSRR T AR SR

The survey employed a dual-frame telephone number sampling design. This method
combines randomly selected telephone number samples from both household landline and
mobile number sampling frames. Since there are many individuals who have both household
landline and mobile numbers, there is an overlap in the sampling frames. To avoid potential
biases that may arise from this overlap or other unknown factors, the survey data is weighed
according to the following procedure:

2 -

EARS A BHFR A o B d WALE P E R AT RE PR T EIA T
BARECD A 2 PR 0 Ao R AR TREA I WA A EIEE S S ki R
AR AR APREEOS IS TR GG AR o 0 PR eI T A
%ﬁﬁé#%%Qi%g’ﬁﬁﬁﬁﬂﬁﬁiﬂﬁﬁﬁgﬁﬁﬁj%&ﬁ&?%%ﬁ
feL 5D > H B 2L FRETEE LB TLE RE s BB R Y
R g o B A ABIET B HRY P RO EF (ThpFF1) o543
R

L

n;, t m

TL'i=N—X—lL+N—Xtim
L €; m

L

AP ] = BiAERR Y L

ny= b FETEEA R AP

NL_ Edl K}%’" ]Hwkﬁ,pr- hu ,\}ﬁ'{
= R P ﬁjﬁ#’fmérﬁﬁﬁ%ﬁﬁtﬂ

el=# ¢ LFHL A

m= LIS A f P

Npp= 2305 #5085 ik

tit= 1 A Ff DL PP

e fEFF L (WTL) 2382 382 B AR ¢ 2R e8¢ 5 (inverse of
probability) > T % : WTli==
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Step 1

The weighting procedure is completed in two steps. First, since individuals in society have
different numbers of household landline and mobile phone numbers, using a dual-frame
sampling method with both types of numbers may result in varying probabilities of selection
for different individuals. To eliminate this unfair impact caused by dual-frame telephone
number sampling, the first weighting procedure involves estimating the total number of
household landline and mobile phone numbers based on the number of each that each
respondent possesses. This estimation is then used to calculate the probability of being
randomly selected for an interview. The probability of an individual being selected in the
dual-frame telephone number sampling (referred to as weighting factor 1) is calculated using
the following formula:

Where:
I = i-th selected individual
n; = number of household landline phone number samples
N, = total number of household landline phone numbers
tF = anount of i — th person; s landline numbers
el = amount of eligible respondents in the household
n,, = number of mobile phone number samples
N,, = total number of mobile phone numbers
t;" = number of mobile phone numbers owned by the individual
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Step 2

,E"_\;}’U&T‘

Since the dual-frame telephone number sampling is based on landline and mobile phone
numbers (i.e., the samples consist of telephone numbers) rather than the entire population of
Hong Kong, the second weighting step aims to ensure that the survey data more accurately
reflects the true distribution of the population in Hong Kong. This step uses the mid-2024
population figures for individuals aged 18 and above published by the Hong Kong Census and
Statistics Department (excluding foreign domestic helpers) as the basis for weighting the

survey data.

The calculation method for weighting factor 2 (WT2) involves dividing the estimated
population by gender and age group from the demographic statistics by the corresponding
population sample in the survey that has been weighted by weighting factor 1. The calculation

for weighting factor 2 is detailed below:

4L > L
qu

B B R e K |
712023 F & ¢ ST EA R
Av A AT LG LY
o Population Population WT2
Fidel Distribution as of Distribution of the
Age group | Mid-2023 Published | Telephone Survey
by the HK C&SD Sample After WT1
¥ Male |~ Female| ¥ Male |-~ Female| § Male -+ Female
(A) (B) ©) (D) (A=C) (B+D)
18-29 403400 | 394600 | 649130 | 725653 | 0.621446752 | 0.543785988
30-39 461700 | 492400 | 794053 | 747992 | 0.581447303 | 0.658295979
40-49 470900 | 556200 | 579369 | 527284 | 0.812781190 | 1.054840295
50-59 499200 | 624900 | 729250 | 569884 | 0.684538878 | 1.096538460
60-69 583900 | 641000 | 544139 | 540593 | 1.073072138 | 1.185735777
70 or above | 520600 | 610700 | 623369 | 720088 | 0.835139157 | 0.848090852
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B4 EFF (WILF) BT o8z

WT_F=WT1*WT2* BASE

g WT_F= &% 4 g 7]+

WTLl= 4cfg 751

WT2 = 4 5]5 2

BASE = # A %5 B F 5 = S As/ 2B 18K 2 0 4 vk
Step 3

The final weighting factor (WT _F) is calculated using the following formula:
WT_F=WT1*WT2* BASE

Where:

WT_F = final weighting factor
WT1 = weighting factor 1
WT2 = weighting factor 2

BASE = sample size adjustment factor = successful sample size/ population
aged 18 and above in Hong Kong
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